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character position 1 2 3 4 5 6 7 8 9 10 1 12 13 14 15 16 17
actual V.I.N. 1 H 9 L H 3 4 4
converted values 1 8 9 3 5 3 8 3 4 4
multiplier 8 7 6 5 4 3 2 10 0 9 8 7 6 5 4 3 2 |sum of products
product 8 56 54 15 20 2 10 0 27 64 21 24 20 4 3 2 333
values x multiplier divided by 11
equals 30.27272727
CONVERSION TABLE / LETTERS TO NUMBERS CHECK DIGIT MODEL YEAR
A=1 N=5 If the | the check X=1999
B=2 P=7 Decimal digit Y=2000 Because the decimalis____, you should
C=3 R=9 is is 1=2001 choose the check digitas ____
D=4 S=2 0.09 1 2=2002 as shown in the check digit table.
E=5 T=3 0.18 2 3=2003
F=6 U=4 0.27 3 4=2004
G=7 V=5 0.36 4 5=2005
H=8 W=6 0.45 5 6=2006
J=1 X=7 0.54 6 7=2007
K=2 Y=8 0.63 7 8=2008
L=3 Z=9 0.72 8 9=2009
M=4 0.81 9 A=2010
0.90 X B=2011
0.00 0 C=2012
D=2013
E=2014
F=2015
G=2016
H=2017
J=2018
K=2019
L=2020
M=2021
N=2022
P=2023
R=2024
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